Finding Normal Percentiles by Hand
1. Use the normal table to find the proportion of observations from a standard normal distribution that satisfies each of the following statements. In each case, sketch the area under the curve that is the answer to the question.

i) z < 2.85
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ii) z < 1.57
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iii) z > 1.57 
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iv) z > -1.66
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v)  -1.25 < z < 1.75
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2. Let X denote the lag time in a printing queue at a particular computer center. That is, X denotes the difference between the time that a program is placed in the queue and the time at which printing begins. Assume that X is normally distributed with mean 15 minutes and standard deviation 5 minutes.

a. Find the proportion of programs that will reach the printer within 3 minutes of arriving in the queue. 

b.  Would it be unusual for a program to stay in the queue between 10 and 20 minutes?

c.  Would you be surprised if it took longer than 30 minutes for the program to reach the printer? Explain, based on the proportion of this occurring.

d.  What is the lag time L such that the proportion that X is greater than L is only 0.01? 

